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xs = [Just 3, Just 2, Nothing, Just 9, Nothing, Nothing, Just 8]

main = print $§ sum $ [y | Just x <- xs, let y = x * 2]
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$ bunny testrun listcomprihension.hs
/home/unno/bunny/0.9.0/bin/bunnyc -d ./jout/listcomprihension --xno-implicit-prelude /home/unno/bunn
/home/unno/bunny/0.9.0/bin/bunnyc -d ./jout/listcomprihension --xlibrary-path /home/unno/bunny/0.9.0

Error: Non-exhaustive patterns.
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[e | p<-1, Q] =1et ok p = [e | Q]
ok _ =[]

in concatMap ok 1

*1 https://www.haskell.org/onlinereport/haskel12010/haskellch3. html#x8-420003.11
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[e |l p<-1, Q] =1let ok p = [e | Q]

in concatMap ok 1
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